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43.1%
(2,989,749H)
20.8%
(2,828,69421) 15%
(1,038,74471)
1.2%
(83,3027)
154]-194] 2041-244] 2541-294 3041-344]
(E1) M2X|Y RX7EH LXt2| M 21 = SE(1/4271)
e e 21 8y e Me 21 8y
=4 NEIE R -+ Hlg =9 x| 2B 5 Hlg
1 ZetT 36,261 14.4% 14 | A27 7,287 2.9%
2 MET 21,418 85% 15 | sx7 7,263 2.9%
3 o7 16,038 6.4% 16 | 727 7,209 2.9%
4 otz 16,003 6.4% 17 | =3 7187  2.9%
5 S S 14,817  5.9% 18 | zaT 6,662  2.6%
6 z27 14,107 5.6% 19 | 237 5,908  2.4%
7 =7 12,178 4.8% 20 | AMET 5,839 2.3%
8 2 9,702 3.9% 21 AHT 5,218 2.1%
9 zhoty 8926  3.6% 22 | em=z 5,166  2.1%
10 | zM7 8399  3.3% 23 |dEx 4179 1.7%
11 LT 8,239  3.3% 24 |32z 4263  1.7%
127 T y== 8,034  3.2% 25 | E27 3,085  1.2%
13 | 847 7858  3.2%
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=9 HqS 35 F = =2 AqS 31 5 Al
1 S4H 42,039 6,746 21 zz-xE 1,430 6,547
2 HolH 42,013 6,207 22 | «c@s-of2E 1,391 6,678
3 dotrd- 2= 21,125 6,764 23 | olo|a= 3 Mutd 1,450 6,338
4 WAEFE 19,535 6,894 24 | FF-MZE 1,266 6,466
5 HEHEH 16,892 6,254 256 | WatH 1,215 6,607
6 Al F=e 7| et 12,964 6,806 26 FLHEHI A3 o3 1,128 6,471
7 pCcgt 13,906 6,273 27 | g&-3A-TA 1,031 7,019
8 HAER 9,884 6,751 28 | MH|A J|E 1,015 6,889
9 Cl=y 8,178 7,387 29 | EF-&uue 987 6,704
10 | =2 -FUEx 6,695 6,784 30 | EEE-RE 960 6,679
11 ey AER 6,578 6,826 31 SMA- LAY 987 6,083
12 | 7IEtol& 3,498 6,600 32 | E-EH-2XE 850 6,991
13 | APRE=E 2,943 6,791 33 | 24 764 7,242
14 | Hlo|Az] 3,175 6,247 34 | FEFE 768 6,896
15 | &7 2,258 6,812 35 | AIO|ERY-2e| 727 6,788
16 | MEtel= 2,028 7,191 36 | dEFE-EHF 691 7,134
17 | LA 2SS 1,651 7,825 37 | &E-EY TIE 594 8,189
18 | #=-A=lF 1,625 6,833 38 | efgt 737 6,486
19 | ofF-&st 1,693 6,496 39 | dAs-HMz= 667 6,919
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(#3) 2016 M2X| OI2HI0|E HBCHY AX2| MSE(15~24MI00, 1/4=271)

154~ 19M 20K~ 24M
=
¢l TERE e 2l HE =5 e
1 =4 7,828 1 HuNEZH 211,542
2 HoH 5,907 2 S41F 170,341
3 Ao M EH 4,849 3 It 155,142
4 AEFC 4,654 4 HolN 154,307
5 M- J]1E 3,256 5 g o] 7 2 113,112
6 ol 15| & 3,224 6 HAER 105,947
7 Hetafx 3,113 7 mazjsfAaEz 96,005
8 #jo| A 2| 2,883 8 gst-JAH-MA| 88,198
9 HaAER 2,870 9 AR E = 86,893
10 7t 2,607 10 ofo|A= & -Maed 83,993
11 ofo|A= 2l - Al 2,501 11 PC&t 80,097
12 e aER 2,473 12 WAEFE 78,266
13 "st-Zo1-MA| 2,194 13 ELl S| 70,114
14 pCtt 1,937 14 o|F7-&Et 64,228
15 HEZEHX 1,743 15 agdE-ol=al 59,416
16 gzl 1,608 16 o5& 56,606
17 7| Efoy & 1,371 17 CHEOLE 54,429
18 =2 FUEE 1,297 18 QAT ol & 50,995
19 efgt 1,137 19 SMA-TOAY 42,949
20 o| 7 -&hat 1,128 20 MR- ZAMEY 42,622
21 MH[A Z|E} 1,099 21 UAl- &5t 42,047
22 FC3E 1,091 22 7| EfolE 39,362
23 CHEOLE 1,087 23 AR Z2TEE 38,813
24 APR-ETEE 1,030 24 EA-DVDCHO{H 36,977
25 st E-FE| 966 25 staE-FE 35,659
26 agZ-ol2E 938 26 DvD&t 34,979
27 ehiEHI A= o E 892 27 UotFEH - T = 34,062
28 SMA-TDAH 745 28 efgt 33,643
29 =3 xE 738 29 JHQIX| - Tt 2 33,412
30 APREZE 730 30 =Sy 31,394
31 DVD% 730 31 Adl-=db J|Ef 30,096
32 e S| 727 32 FCcFE 29,891
33 ey 712 33 HEZEAX 28,400
34 EXM-DVDCHO{H 699 34 ostat 27,569
35 &of-n|F-0l8 659 35 2|=0{-o{ & 27,309
36 AR EAE X 623 36 =g FHEx 26,553
37 A AR 576 37 =3-=7 24,452
38 Ha-0/5 533 38 DZaket 23,298
39 =t 5H-2[xE 522 39 HatFE2-d 20,558
40 ot 510 40 ojgod 19,966
F . 4 AHOE ol o[FM NE ATE J=0= mAll 1071 AR 35 = &9 400F 55
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=] 24

22l WEREES e 29l WEREES e

1 AIRE = 191,883 1 AIRE = 118,990
2 HEMEH 181,532 2 ARy -EAEY 57,296
3 s 122,645 3 sumes 48,168
4 ol y 105,786 4 ELEIES) 27,399
5 | SAH 104.414 5 | letora 27,253
6 A=dH-EAMEY 100,547 6 75| 25,463
7 Hasw 79,938 7 dass 24615
g | oshzol HA 77.560 g  ®Hem 23,841
9 ELEI S| 72,666 9 S44H 23,566
10 pCdt 65,144 10 4o -gA- 57 21,675
11 o| 7 &5t 60,069 11 pCut 21,187
12 AAl-EE5sH 55,325 12 ARG 20,717
13| Wizl 55.316 13| Al masy 19850
14 wsEasg 53,121 14| cioie 18125
15 LZ=-of=2l 52,466 15 A5t ZoA-HA| 18,111
16 | thgoie 50,813 16 si=ofofst 17925
17 ot A= o 47,462 17 LE=-ot2El 16,486
18 THOIX| £ - B} 2| 46,882 18 Ht(Bar) 13,910
19 7| Efoj & 45,727 19 o| &7 &5t 13,893
20 | slzojofsgl 44,243 20 | dwrd ez 13751
21 U FEN S 42,306 21 zz- el 13,232
22 | g 34 541 22 | olHs sz 13.033
23 ofo|A= &l - Aot 33,235 23 ot A= o & 12,995
24 | =Aa oA 32,800 24 | Aolesd pel 12,992
25 WAEFE 31,611 25 =& 12,915
26 2|45 & 30,349 26 H=7ts 12,756
27 Zz&-=xg 29,624 27 Aded-otA 12,752
28 | pvpw 28217 28 | FHelxiE el 12162
29 de|-sAH-55F 27,862 29 HA- 5 11,974
30 | BH(Ban) 26906 30 | susdaze 11723
31 HA -5 25,677 31 Hot- A5 -Ad| 10,959
32 EAM-DVDOHO{A 25,645 32 2H & 10,940
33 | ey 25387 33 | maolw 10,312
34 =t SE.2|XE 25,180 34 FOo- 7 &I 9,311
35 gz 25,145 35 DvDgt 9,124
36 =/ &nzte| 24,905 36 SAHEE 9,005
37 Hot-dE-Zd| 24,407 37 SMA-TAH 8,775
38 =AHEH A2 24,266 38 |- FUHE= 8,399
39 AR 2neE 23,955 39| muslisa 8273
40 ods elZx 23,878 40 Ml FE M 8,240
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I
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6,030 ~7,1449(85.9%) > 7,1459~8,208Y
> 10,0009 ©]%H(1.1%) <.
ol AAE I riar Blof & AeAY

14%°) E3gk 2749

A% AeA

A

==

=

85.9%
(138,770)

WEAR AR
169 4719 L ATEAL
& 179 =5 AMYZT BT O 77
11.7%
(18,865) 1.2% 1.1%
(1,972) (1,849)
6.0308! ~ 7.144% 7.145%1 ~ 8,208%! 8,209%! ~ 9,999% 10.000%! O] &
E())E dE AlE HEY 2E 31 5 HEolH, siE flIE(%)E 7Y o A,
(E4]) ME1 &= OI=2HI0|E A& H|lw: 2014~2016 (el &)
x| 20144 d= AMF 20154 d= Mg 20164 d= AlF
e a4t| 1/427|
&= 5,667 5,759 6,475
M2 5,890 6,188 6,687
47| 5,791 5,884 6,598
ol 5,681 5,804 6,439
P 5,480 5,590 6,360
== 5,772 5,830 6,546
CHA 5714 5,810 6,534
e 5,541 5,645 6,319
ME 5,851 5,917 6,731
24t 5,640 5,710 6,476
= 5,735 5,797 6,497
o= 5,565 5,626 6,361
a5 5,637 5,704 6,366
4 5,614 5,680 6,379
k= 5,503 5,615 6,290
23 5,601 5,704 6,428
e 5,512 5,581 6,333
NIES 5,824 5,818 6,723

T HEAMAZ(AS) - 14E 5,2108,

‘154 55808,

‘1649 6,030&

_‘l'l_



MEA| OI=HPO|E Tt Alg 24

A'I%*l (20163 127|, ©2): b
A =2 213907
@ I ot 37
L= 6,448
6,687#
== (e
=7
smm 6,714 @
6,558 e 6,733
6,882 6,493
g o bERA =7
M2 gaes s T
OEET 6,610 =
6,711 ST M=
Cal 6,684 (-3o ;46 =l 2=
: 6,604 b
E=ona ’ 6,556
6,635
iz SSET 6848 N
6,61 6,720 St
=X 6,649
215%3 6,564 e i
s 6,701 Zet

g T
6,671 6,492

(RI=XIE: L=, shaeSAERIHETLA)

(E5) M2XY9 2570 XIX|7 OIZ2HIOIE T Alg X 2XZ(1/427], B2l: &)
29 X X Al J ;‘ g; 29 X e Al Aj ;j%
1 M 6,882 6,934 14 MCHEF 6,610 7,200
2 A 6,848 oM 15 2R 6,604 7,200
3 SHEF 6,733 7,236 16 T2 6,570 7,368
4 dsxL 6,720 7,145 17 ST 6,564 7,185
5 455 6,714 7,130 18 293 6,558 7,180
6 OfZ 6,711 7,145 19 d=T 6,556 7,013
7 M= 6,701 oM 20 MET 6,546 7,600
8 =T 6,684 o| x| A 21 MEF 6,493 7,585
9 =8+ 6,671 7,239 22 et 6,492 7,145
10 =24 6,66b 7,145 23 2kt 6,450 oM
11 S+ 6,649 o| XA 24 el 6,448 7,370
12 A 6,635 7,020 25 EEF 6,376 7,130
*ME2A MA AlF 6,687
13 287 6.611  7.145 (A1;| LA‘%%!E.J;,MB%J)
X T AT SEYE ST UECES T A0 T a50 7 IE =7 7 9E 290, 7 Ags o= o
20f| chE vl B (M2A @ 7|25 + At + wEH|)

_12_



(O89) MEXH ZFAHA OI2HI0|E LXi2| Alg (el &)
6733 g714 6711 A& ZEXY AlS 6,5867
6.684 ¢ 665
I —
6,558 6,556 @546
6,493
6,450 6,448

6,376

EHZT FEF oEF ST FEF BT MGET BUT 2WIT  FST AHST 47T FYT  Lu7 =B

(3810] MSXY 2HAY OI=HI0|E LAt Alg =& (B2l /)

ME ZHEXR A S 66603

6882 ¢ gas 24 37 A2 6,7328
6,720
6,701 g7 .
- 6,611
6,570 6,564 6,556
6,492
M7 zZyT gsz3 MHET Fu7 Zop7 *HT F=7 53 Zs7 metn

(6] ME3X[Y & 2 XiX|7E OIZHIOIE Alg H3} : 2014~2016(E%I: &)

g 20144 A2 20154 A2 20164 AlZ
Ak () AdL7] 1/4&271
7 M2 x| 5,881 RERE 6,188 FERE 6,687
19| ZeT 6,148 | &7 6,418 | dMT 6,882
29| ETE 6,085 | MET 6,321 | g7 6,848
39 z=7 6,067 |dsmF 6,320 | =Ci2T 6,733
49 AT 5,981 AT 6,313 |ds=F 6,720
59 EEEE 5,990 | ol= 6,298 | u=7 6,714
69 MET 5982 | =0 6,295 | ot 6,711
79| eyT 5,974 | &TT 6,257 | MET 6,701
89| e 5,947 |= 6,257 | BF 6,684
99| 2T 5,943 |Z=27 6,220 | 2HT 6,671
109 | =7 5,919 | 2%x7 6,213 | Z27 6,665
119 Jsmx | 5907 |zET 6,202 | &m7 6,649
1291 | Moz 5,890 | ZAT 6,181 AT 6,635
139 | zM=T 5,884 | ZAT 6,153 | %xT 6611
129 | z=7 5883 |27 6,135 | MOj=7 6,610
169 | 727 5,881 eHT 6,134 | ZxT 6,604
169 | 4d=7 5874 | 72T 6,133 | 727 6,570
179 | 2E= 5,836 | AOi= 6,131 Ext7 6,564
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184 gET 5,818 47 6,126 24+ 6,558
194 B e 5,817 457 6,126 a7 6,556
204 SE 5,757 S+ 6,125 e 6,556
214 3T 5,757 SR 6,088 HET 6,546
224 2T 5,755 oot 6,084 ook 6,492
239 et 5,755 e ey 6,072 ST 6,450
242 45+ 5,712 AT 6,058 AT 6,448
259 g+ 5,672 E+ 6,034 EEF 6,376

— A 39 Al AEAY A7 AF Asks A9 57) ART of2ulolE Algo] ¥
2Rt a9l 5 A Tel Aol W FolA A Wa) gl A = AL
o AAT F AF B ZE A 39 57 93 W) Fol Ak AL o
o5 NEAY AlFe] e 2o AYHOR AR Fi FE e FEY.

o\

[0 AgA] 9 of2ulo|E AFH Al @3

— ARG ofZnlo|E Al A9 107 HFe it AlES 9,7069015. AR o}
ZHllE Aol =2 8 107 4% o9 2aE"Rd 11,3709, yeely =
2(11,370¢9) > AEZARHAR(9,7969) > WHE-85A(9,3359) > &l|of-T]H-v]
8(9,055¢1) > ofF7fo]=(8,863¢) > Z7HAFoF=4H](8,540€) > HIA -7
(8,38791) > theh-w57]¥H(8,2299) oAU+

kil

2

(A8l2) MEX[Y OIZHIOIE Al &9 TOP 10 =& (el &)

14,048
11,370
9,796 9,435

9,335 9,055 8,863 8,540 8,387 8,229

% % A~ *r\ & & ¢ & > &

o B ZF i &2 > N 2 > @

BN S o 5 % = % o W >
25 AT A &% & o 3 X
~ r}f’& w \ ’3\{_\ » i

— A2AS AA dEt 813e] Wt Al 6,688, 7} of=nlolE my Fa(Y
o] 7} Al 6,657 HolE. A& Y]
> &

PN
wo AEU6,9589) > A&(6,7409) -
3o

—

N
N
O
o
!
jus}
=
o,
[
ko
Y,
>
35 ;
—
o
pedl
ol
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(7] 2016 MEXIY et S = &9 1090 XY H&(31 5, A=)

cheiot P AE(8)

LT MExd ®HAl et 69,504 6,688
450 1074 chet 38,853 6,657

19] sl 7,583 6,722
29] #30 6,972 6,620
39 e 4,061 6,740
49 Hem) 4,070 6,589
59 s 3,333 6,677
69! s30 3,199 6,726
79 Soicy 2,690 6,563
84 T 2,548 6,651
99 Mg A2 2,202 6,958
109 SERIL 2,195 6,523
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